MDD TIVRI0NT YR HXW? Q’nar naon WA AT TIHY 1y e

28.3.3
34b (153pw 1517) 2 35b (27217 1128 270080 R 1109 PINA [P TR 715V407)

II

I

A7 877709V N2 TIO YR JOWP 97 M) NZY7 N2t NYIR HY 1N3) AR NRYND DTN 1090 NRY) .
57 8777: NN TIO HR JaWP AT 99 NRY NYYN N2TN NP YY 10N IYINRI ANTN 1090 NRY)
arp 772992 WHR RIN TTD % DNV 5 1927 NAIND YY 1027 RN MR RN 072 W20 Ua)

27477721210 DYR VY N2MN YY NFYD NR WRD YIRA WK YT DR D10 1792 YY W3’ T2 70100 12§70 1020 W1Y) .

End of 'R mwn —if o%0a did 77nhap with ympn/mnty pin nawnn, a 7wa may go back and do 1”nap (if there’s still wain o7)
a  question version 1 (2775 57): if a 108 does 1"m1, is the rest of the o7 now ©» W (2 can no longer perform 7”7M1) or not?
i answer: only n910a np»r which “counts” (thereby generating 0»1°w) is 1MpR/INT PIN nawny, since its 1,85 nxan
b wversion2 (per 1ar 77): 9™ asked if a 5102 V13 (e.g. R¥Y) is used, does that generate n»w?
i answer: whatever you contend is true about a %108 doing 7”071 (per v. 1) , same will apply to %108 012
¢ wversion3 (per 'no1n irpY ’7; N asked 727): what does 1 v13 make the other (if 07 was collected in multiple mo1)?
i 2 and it is spilled out in nnR that cuts through nry, OR
ii ~ p»vw and is spilled, like all “remainders”, at namn Mo’
iii Answer: it is a dispute 13127/v”aR4, in ®n’12 which reconciles vv. 1-2 (7 vs. 0T %2)
1 proom if he got nron o7 in 4 cups and used each for 1 ninn, rest of each goes to Tv; if one wasn’t used —nNKR>
2 w7anTin all cases, all goes to T’; v. 1 excludes remainders that were ax11¥n 07 (i.e. never made it to '93)
['a mwn: status of “interrupted” nvap
a  If:a9w> did proper nyap (with his right hand in a n7w *53) and then gave to a %109, put into his left, or into 5 53
i Solution: he should put take/put it back (into right hand/mw »>3)
b If:it spilled out of the »>5 and he gathered it up - valid
¢ If: he put the n7in an incorrect locus (per R:1 above), if there is any wa1n 07 left, a 9w3 should go back and do n%ap]
Analysis of 'a mwn:
a  Justification (of 3 cases — 5109, left hand, 511 252):
i If: only taught %108, R"70 that was a Xnv (only), who is permitted 11ax 1292 (When nn *Rnv Max 17) — but not YRnw
ii  And if: taught YRnw, ™10 since it is validly used on 2”m» nmay (when 3"n3 brings the n1vp in), but not %1 ">
iii And if: taught 5 93, 8”70 since they could (at any time) be sanctified to be n7w "3, valid; but not 50 and Yxnw
b Question: why isn’t every one of these cases »n7 (i.e. once it goes to left hand, e.g., should be irrevocably invalidated)
i Answerl (’nos7p 7207 73): follows »¥nn 1an, who doesn’t read such cases as "n7T
1 Background: in case of 2"ny »yv, even if the ('n%) 1»wn 0T was in the 13 and the nonwnn yw died
(a) Wedon't rule: that the o7 should be spilled and another pair must be brought ("1n7)
(b) Rather: we may bring another 1’»w to be sent out
ii  Answer2 (»wx 79): all would agree —no »n7 in case of something that the officiant can repair (e.g. put in right)
1 Support: N "1 accepts N7 (such as these) — per his ruling re: 2"nv *pv, yet he holds that 112w 53— no "n7
2 Background: he reports that they would collect o7 from all the n’noa and, at the end of the day (7) they
would perform one np» v towards the o’ — ostensibly to repair any mis-performed nmoa
(a) Analysis: nnon challenged > —but the o7 may not have had proper *931 n%ap
(i) 7% ©and are ot and don’t allow it; problem is the haste which may lead to spillage from *52
(b) Challenge: roxnnin 0T is mixed in
(c) Answer: » is consistent — he holds that n'snnn o7 is considered BT, per his dissent and ruling that there
is a m72 2vn for eating n'xnnn o7
(i) block:x™ noted that even "7 agrees that n>nnn 0T cannot generate N193 — per v. 3
(d) rather: > is consistent — he holds that o7 cannot nullify o7 = n¥nnn o7 doesn’t “blot out” wain o7
(e) Challenge (o015 »): why are drains stopped up in N7y
(i) Answer: it is asthetically pleasing to have o103 walking in o7 (of n12a1p)
1. Note: not a nx>¥n, as it is liquid
2. Note: not a problem of doing nmay in stained clothes, even though they don’t lift them up (v. 4)
a.  But: they walk on mravx’r from place to place, except to perform non-essential acts, like
placing wood on n27yn at which time they may lift up garments
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3 mwn: Y1va nawnn that doesn’t invalidate (I)
a  If heintended to eat an inedible or burn a non-burnable - 1>
i Dissent: X" invalidates
b If: he intended to eat %2 »13 (of 9w1) or burn %2 m13 (of PNR) - W
¢ If heintended to eat Y2 n°1a (of 7w1) and burn Y2 113 (of pmR) - w3
i Reason: n93R and n7vpn cannot be merged
7 mwn: H1a nawnn that doesn’t invalidate (II) — focus on non-essential and inedibles
a  Intent: to eat skin, gravy, spices (left in pot), neck tendons, bones, tendons, horns, feet ympn/ Nty yin — w3
i And:these are not affected by xnovy 9mn 58
‘N mwn: S1wa nawnn that doesn’t invalidate (III) — focus on by-products of animal
a  If: he did nvonw (e.g.) with intent to eat the foetus or placenta - no 5w»a
b If:-he did np*Yn with intent to eat the birds’ eggs 1n1% yin —no Yo
¢ Byproducts: milk of w1pn and eggs of the fowl do not attach to xnoy am ;)9
i &”r uni-directional %2
1 If he effected 59 on a nar, the placenta is included; but not the inverse
2 If: he effected 919 on the edible neck-tendon, the esophagus is included; but not the inverse
3 If: he effected Y109 on the p1R (of B97WIN DY) — the "4 are included; but not the inverse
ii  Proposed support: nom w™, who disagree about “reach” of %133, agree that intent re: 05 doesn’t make %139
1 Inference: inverse is effective — 51 about 1R renders n»a into 58
2 Rejection: inference is that if he intended 5 about PR, that is effective — for 118 (alone)

iii  Proposal: maiwin mron have n%yn from moment of wTpn; once slaughtered, they are now vulnerable to invalidity

via touch of 120, D193 701NN and via Y.

1 Assumption: n»% refers to 9wa n»y - intent to burn meat after its time is also 8 nawvnn

2 Rejection: nys refers to PR
(a) Challenge: Rov states that n2’yn applies as long as the meat is being burned, until it is melted
(b) Implication: entire nawn is referring to 7w1, not PR
(c) Rejection: each section is referring to its own precinct; Rw» to PR, R0 to TW2

iv. Challenge (727): list of animal parts, including placenta, that aren’t 3an nor %39nn; no liability for yina n%yn and no

attachment to Xnvy M 510
1 Assumption: 939n — errant thoughts about them have no effect; %3ann — cannot be affected by Y18 nawnn
2 Rejection: 730n — as above; 3ann — in and of themselves
(a) Challenge: R0 teaches D%3ann PRI DYIAN PR — Unnecessary
(i) And:no liability for v"19 — unnecessary
(b) Rather: each is taught in its own context
v Support (N¥27):10nw done with yin mawnn about foetus doesn’t create 59
1 Nor: np2on with yin mawnn about eggs—no Yo
2 then:no v"a for eggs or milk of PYTPIN
(a) Implication: but placenta could be under ban of V"8
(b) Resolution: they could be included if essential 129 was 23ann; but not jnxy nnnn
d  Side-door: y" dissents and allows mn ’5ya that were put on narm to remain (contra DnIN — 177 1YY OR)
i (™ pwa) R"ana: Y™ permits only“fine” oin since such a mn is valid mawa, and only if 0in came after w1pn
ii  ®ar 72 RPN Y™ agrees that an Nap1 N is considered o nYva before wTPN
1 Challenge: inference from Xn»9a (above) —710a pina jan nbynn = but from their mothers — a»n
(a) But: that must be an napy n%y; how can there be 2y if 197 19 DR?
2 Answer: inference is incorrect — not the mothers but their p11m°& generate liability for yina nbyn
(a) Challenge: but 1R are not parallel to "jnn”
(b) Rather: Xn»12 reads 7103 PIN2 177IRN NYYNN > 2N DR MNNDIRN
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